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64 + 36 + x2 = 225, x2 =125
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h = V262 - 102 = 24(cm) ©| L&,
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(£3) = 10 % 10 x 7 24 X 5 = 800x(cm)
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CD = V32 + 42 = 5(cm),
(AD)* + (BC)* = (CD)* + (AB)?,
64 + 49 = 25 + (AB)? .. AB =2+22 (cm)
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@ 2cm @)2.5cm ® 3cm

BC = 10cm ©]1, cACFG = oJKEC °|E2
OACFG = oJKEC = 25cm?2 ©]|t}.
w2bA EK x 10 = 25 ©|22 EK = 2.5cm ©|Th,
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@ 360m2 @ 38 Cm2 @ 40Cm2

@ 42cm? ® 44cm?

B ,
AP = 10(cm) ©]E= BP = 6(cm)
wa2tA, PC = 4(cm) ©]2 PQ = DQ = x(cm) & 52 H
CQ=(8-x)cm

APQC oA x% = (8 —x)2 + 42 0|22

x2 =64 - 16x + x> + 16

. x=5(cm)

AADQ 2 ARCQ (AA =) olB=2

10:CR=5:3

.. CR = 6(cm)

. AAPR = % x 10 x 8 = 40( cm?)
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S1+S83=399
S14+S2+83 =25,

1
L 2Xax 52 x 3 = 257( cm?)
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AB= /(-3-a)2+ (-5-1)2=2V13 0o]BZ
VO +6a + a2+ 36 = 2V13

FH-E AFHH a® + 6a + 45 = 52
a?+6a-T7=0

(a-=1)(a+7)=0

watA g =1 Ea = -7 °Jth




